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Löse folgende Gleichungssysteme mit der Cramer‘schen Regel 

 

1) 

3� + 2� = 1 

2� − � = 3 

 

	 = 
3 22 −1�  � = 
13� 


 = �3 22 −1� = −3 − 4 = −7 


� = �1 23 −1� = −1 − 6 = −7 


� = �3 12 3� = 9 − 2 = 7 

� = �−7−7	; 	 7−7� = �1	;	−1� 
 

 

2) 

4� − � = 0 

5� + 2� = 1 

 

	 = 
4 −15 2 �  � = 
01� 


 = �4 −15 2 � = 8 − (−5) = 13 


� = �0 −11 2 � = 0 − (−1) = 1 
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� = �4 05 1� = 4 − 0 = 4 

� = � 113	;	 413� 
 

 

3) 

3� − 2� + ! = 1 

� + � + ! = 10 

2� − 2� − ! = 3 

 

	 = "3 −2 11 1 12 −2 −1#  � = " 1103 # 


 = $3 −2 11 1 12 −2 −1$ = (−3 − 4 − 2) − (2 − 6 + 2) = −9 + 2 = −7 


� = $ 1 −2 110 1 13 −2 −1$ = (−1 − 6 − 20) − (3 − 2 + 20) = −27 − 21 = −48 


� = $3 1 11 10 12 3 −1$ = (−30 + 2 + 3) − (20 + 9 − 1) = −25 − 28 = −53 


% = $3 −2 11 1 102 −2 3 $ = (9 − 40 − 2) − (2 − 6 − 60) = −33 + 64 = 31 

� = �487 	;	537 	; 	−317 � 
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4) 

� + � = 1 

2� − ! = 1 

� + 3! = 2 

 

	 = "1 1 02 0 −10 1 3 #  � = "112# 


 = $1 1 02 0 −10 1 3 $ = (0 + 0 + 0) − (0 − 1 + 6) = −5 


� = $1 1 01 0 −12 1 3 $ = (0 − 2 + 0) − (0 − 1 + 3) = −2 − 2 = −4 


� = $1 1 02 1 −10 2 3 $ = (3 + 0 + 0) − (0 − 2 + 6) = 3 − 4 = −1 


% = $1 1 12 0 10 1 2$ = (0 + 0 + 2) − (0 + 1 + 4) = 2 − 5 = −3 

� = �45	; 	15	;	35� 
 

 

 


